

## RESULT OF B.V.Sc. & A.H. DEGREE COURSE ANNUAL EXAMINATION, July 2015

**NAGPUR VETERINARY COLLEGE, NAGPUR** COLLEGE E - II

**ACADEMIC YEAR** 2014-2015 **PROFESSIONAL YEAR:** Ι

			_	_	_																										
Sr. No.	Enrol. N	o. Name of the student	V	eterinary 3 +	Anatom 4 = 7	y - I	Vete		hysiolog 2 = 6	y - I	Veteri		ochemis 2 = 5	try - I	Anima		cs & Bree 2 = 6	eding - I	L	Manage	Production Production	on			lutrition 2 = 6	- I	Total Cr.Gr.Pt. (CGP)	Grade Point Average		Final Result (P/F)	CAP Subject
			Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	(CGF)	(GPA)		( - / - )	
1	V/13/00	9 BOKADE ABHIJEET CHANDRASHEKHAR	30.00	53.13	FAIL	0.00	42.92	61.88	FAIL	0.00	34.79	66.25	FAIL	0.00	37.50	60.00	FAIL	0.00	45.56	64.58	FAIL	0.00	56.46	72.81	PASS	37.80	37.80	37.80 / 6		FAIL	
2	V/13/01	2 CHAVAN SAGAR NAGORAO	58.33	61.88	PASS	41.65	57.08	71.88	PASS	37.80	36.46	70.63	FAIL	0.00	52.08	59.38	PASS	33.00	58.89	78.33	PASS	53.98	75.63	78.44	PASS	46.05	212.48	212.48 / 33	6.438	САР	VPB(B)-I
3	V/13/02	21 JAMBHULKAR APARNA SANJAY	54.17	73.13	PASS	42.10	46.25	71.25	FAIL	0.00	55.42	70.00	PASS	30.15	47.08	61.88	FAIL	0.00	61.39	77.50	PASS	54.20	55.00	76.88	PASS	38.28	164.73	164.73 / 26	6.335	САР	AGB-I, VPB(P)-I
4	V/13/02	9 KOWEY INDRAKUMAR GIRISHKUMAR	47.50	66.25	FAIL	0.00	50.00	66.88	PASS	34.05	30.42	58.75	FAIL	0.00	45.00	34.38	FAIL	0.00	50.69	76.25	PASS	49.02	55.42	63.13	PASS	35.10	118.17	118.17 / 20		FAIL	
5	V/13/03	MADHAV	58.33	68.13	PASS	43.20	52.08	70.63	PASS	35.70	66.88	70.94	PASS	34.00	57.08	67.50	PASS	36.75	59.72	80.21	PASS	55.36	66.04	75.63	PASS	41.94	246.95	246.95 / 38	6.498	PASS	
6	V/13/03	MUNDHE SATISH GAJANAN	66.25	68.13	PASS	47.00	67.08	66.25	PASS	40.05	62.92	83.44	PASS	34.96	67.08	58.75	PASS	38.25	72.36	82.29	PASS	62.10	74.17	72.81	PASS	44.19	266.55	266.55 / 38	7.014	PASS	
7	V/13/03	NAGE SWATI SANJAY	36.25	51.88	FAIL	0.00	22.50	69.38	FAIL	0.00	35.83	68.75	FAIL	0.00	32.92	35.63	FAIL	0.00	43.19	73.54	FAIL	0.00	43.75	69.06	FAIL	0.00	0.00	0.00 / 0		FAIL	
8	V/13/04	PATRE MEGHA UMESH	41.67	64.38	FAIL	0.00	39.17	65.00	FAIL	0.00	41.04	73.13	FAIL	0.00	48.33	41.88	FAIL	0.00	35.42	76.25	FAIL	0.00	50.83	72.50	PASS	35.70	35.70	35.70 / 6		FAIL	
9	V/13/04	9 SATDIVE DARSHANA RAJENDRA	57.08	68.13	PASS	42.40	48.75	64.38	FAIL	0.00	56.46	70.63	PASS	30.21	57.50	67.50	PASS	36.90	62.36	73.96	PASS	54.68	61.25	78.13	PASS	40.83	205.02	205.02 / 32	6.406	САР	VPB(P)-I
10	V/13/05	SAURABH KUMAR SINGH	61.67	65.00	PASS	43.50	51.25	55.00	PASS	31.65	63.96	60.00	PASS	31.84	62.08	53.13	PASS	35.10	62.08	66.04	PASS	51.78	67.29	62.19	PASS	39.18	233.05	233.05 / 38	6.132	PASS	
11	V/13/05	SUBHAG AJAY DOLKE	59.58	61.88	PASS	41.95	53.75	65.63	PASS	35.10	42.92	60.00	FAIL	0.00	53.75	51.88	PASS	31.80	60.97	79.58	PASS	55.36	67.50	75.00	PASS	42.30	206.51	206.51 / 33	6.257	САР	VPB(B)-I
12	V/13/06	WALKE DIVYANI JAYPAL	30.00	44.38	FAIL	0.00	30.42	60.63	FAIL	0.00	29.17	45.00	FAIL	0.00	34.17	29.38	FAIL	0.00	34.17	60.63	FAIL	0.00	31.04	70.94	FAIL	0.00	0.00	0.00 / 0		FAIL	
13	V/14/00	7 ASHAR MOHAMMAD JAVED ABDUL KALIM	60.00	65.00	PASS	43.60	61.25	67.50	PASS	38.25	78.54	81.25	PASS	40.06	63.75	73.75	PASS	40.65	59.17	70.83	PASS	52.48	70.83	80.31	PASS	44.79	259.83	259.83 / 38	6.837	PASS	
14	V/14/00	08 ASWAR ANAND PRALHAD	62.08	75.00	PASS	46.80	62.50	71.25	PASS	39.60	62.92	79.38	PASS	35.00	54.17	71.25	PASS	36.60	66.11	77.50	PASS	57.08	66.25	82.19	PASS	43.59	258.67	258.67 / 38	6.807	PASS	
15	V/14/01	2 BADWAIK PRENAL YOGESH	85.42	88.75	PASS	60.70	78.33	76.88	PASS	46.65	92.29	83.13	PASS	44.01	86.67	86.25	PASS	51.90	80.83	85.00	PASS	65.98	88.33	99.38	PASS	55.65	324.89	324.89 / 38	8.549	PASS	
16	V/14/01	BAWANE MANOJ MORESHWAR	55.42	61.88	PASS	40.85	61.25	68.13	PASS	38.40	68.75	59.38	PASS	32.45	53.75	58.75	PASS	33.45	56.81	76.04	PASS	52.18	64.17	78.13	PASS	41.88	239.21	239.21 / 38	6.294	PASS	
17	V/14/02	BIBEKAR SHUBHAM AVINASH	47.92	64.38	FAIL	0.00	53.75	69.38	PASS	36.00	58.54	66.88	PASS	31.24	46.67	59.38	FAIL	0.00	63.06	72.29	PASS	54.16	66.67	78.75	PASS	42.93	164.33	164.33 / 25	6.573	САР	AGB-I, VAN-I
18	V/14/02	MS. BORKAR AISHVARYA YESHWANTRAO	71.25	72.50	PASS	50.00	55.83	78.75	PASS	39.00	69.38	72.50	PASS	35.34	60.83	70.63	PASS	38.85	68.75	81.25	PASS	59.82	75.00	94.69	PASS	49.74	272.75	272.75 / 38	7.177	PASS	
19	V/14/03	MS. CHITRIO KIRTI EKNATH	53.33	68.75	PASS	41.05	55.00	78.13	PASS	38.55	75.42	71.25	PASS	36.85	58.33	72.50	PASS	38.40	50.42	76.25	PASS	50.52	76.67	85.00	PASS	48.03	253.40	253.40 / 38	6.668	PASS	
20	V/14/03	DABERAO RUSHABH KASHIRAM	57.92	62.50	PASS	41.10	56.67	64.38	PASS	35.85	52.92	78.75	PASS	31.35	47.92	68.75	FAIL	0.00	58.19	76.46	PASS	52.80	68.75	76.88	PASS	43.20	204.30	204.30 / 32	6.384	САР	AGB-I
21	V/14/03	MS. DABHADE ASHWINI GANESH	73.75	75.63	PASS	52.10	66.67	73.75	PASS	41.70	80.42	76.25	PASS	39.30	65.42	82.50	PASS	43.35	66.81	78.13	PASS	57.90	82.50	88.13	PASS	50.85	285.20	285.20 / 38	7.505	PASS	
22	V/14/04	DAHAKE MAHESH KRUSHNARAO	75.00	70.63	PASS	51.40	81.67	70.00	PASS	46.20	87.71	88.13	PASS	43.64	80.42	76.88	PASS	47.40	82.78	81.88	PASS	66.22	87.08	86.56	PASS	52.14	307.00	307.00 / 38	8.078	PASS	
23	V/14/04	DESHMUKH AJINKYA UDAY	10.42	29.38	FAIL	0.00	28.33	61.25	FAIL	0.00	28.96	58.13	FAIL	0.00	19.17	22.50	FAIL	0.00	36.53	59.38	FAIL	0.00	39.79	67.81	FAIL	0.00	0.00	0.00 / 0		FAIL	
24	V/14/04	MS. DESHMUKH SAYALI CHUDAMAN	59.58	67.50	PASS	43.60	56.67	70.00	PASS	37.20	74.58	73.75	PASS	36.90	54.58	65.00	PASS	35.25	66.94	77.71	PASS	57.26	66.04	86.88	PASS	44.64	254.85	254.85 / 38	6.706	PASS	
25	V/14/05	MS. DESHPANDE PRUTHA SUDHIR	69.17	75.63	PASS	50.55	67.08	75.63	PASS	42.30	76.67	82.50	PASS	39.70	69.17	76.88	PASS	43.35	80.56	85.83	PASS	66.28	84.58	86.88	PASS	51.33	293.51	293.51 / 38	7.723	PASS	

CAP = CONDITIONALLY ALLOWED PROMOTION

P/F = PASS / FAIL

\* - ABSENT IN ANNUAL/PRACTICAL EXAM

NR - NOT REGISTERED

S/US - SATISFACTORY/UNSATISFACTORY

 $CP (Credit Point) = Sum of (Grade Point \times Credit Hours) of the course(s).$ 

(GPA = Total Credit Points/Total Credit Hours) (A = EXCELLENT, B = GOOD, C = AVERAGE) For Non-Credit Courses offered during this semester, the grades are indicated. The non-credit courses which are already offered and cleared are mentioned as '--' in the grade column Note: The students and the Counselors are expected to go through the results declared by the University. The result is subject to change, in case of error/mistake etc. at any stage. [vide Academic Regulations for B.V.Sc. & A.H. Degree Course]

- 1) A student shall be promoted to the next higher Professional class only if he/she has passed in all the papers of his/her class #.
- 2) To pass a Paper, a student must acquire 50% or more marks each in Theory & Practical, separately (Internal & External combined).
- 3) Failed students (in more than two Papers) shall register again for the entire Professional Class, they failed. Such student shall have to fulfill all the requirements of that class afresh.

  4) A student failed in maximum two Papers only may be allowed once to appear in Compartment Examination for those Paper(s) in which he/she has failed.

  5) A Student may also be allowed provisional promotion to next higher class till the decalration of the result Compartment Examination. However, this promotion shall be subject to clearance in the Compartment Examination(s).

- 6) In case of failure in any of the Compartment Paper(s), the student will be reverted back to the previous Professional Year and will be required to repeat all the requirements of that failed Professional Year. 7) A student failing in the Annual Examination for three consecutive years in a Professional Year of B.V.Sc. & A.H. degree programme, shall be finally dropped automatically from the University Roll on account of poor academic performance.
- 8) The desired students may apply for Scrutiny/Retotaling of marks of the Answer book(s) in prescribed format within three days after the declaration of the result by paying prescribed fees. # The students completing all the credit and non-credit courses successfully are only eligible for undergoing ITP (Clause 9-5:(c)) of the Academic Regulations- 2009.



## RESULT OF B.V.Sc. & A.H. DEGREE COURSE ANNUAL EXAMINATION, July 2015

**COLLEGE** NAGPUR VETERINARY COLLEGE, NAGPUR

**PROFESSIONAL YEAR: ACADEMIC YEAR** 2014-2015

Sr. No. Enrol. No.	Name of the student	Veterinary Anatomy - I 3 + 4 = 7  Theo. Pract. P/F CP						hysiology 2 = 6	· - I	Vete		ochemist 2 = 5	ry - I	Anima		s & Breed 2 = 6	ing - I	Livesto		ction Mana - I 3 = 8	agement	4 + 2 = 6				Total Cr.Gr.Pt. (CGP)	rt. Point		Final CAP Result Subject
		Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	(CGP)	(GPA)		(P/F)
26 V/14/054	DHABALE ANKUSH RAVISHEKHAR	54.58	60.63	PASS	39.40	47.08	67.50	FAIL	0.00	46.25	66.88	FAIL	0.00	45.42	40.63	FAIL	0.00	54.72	73.54	PASS	50.46	57.50	85.63	PASS	41.28	131.14	131.14 / 21		FAIL
27 V/14/060	MS. DIWTHE PRADNYA CHANDRALAL	47.92	60.63	FAIL	0.00	48.75	68.13	FAIL	0.00	59.79	68.75	PASS	31.71	47.50	53.75	FAIL	0.00	55.14	75.63	PASS	50.20	55.00	75.31	PASS	37.89	119.80	119.80 / 19		FAIL
28 V/14/062	MS. DONGRE SHREYA ASHOK	57.08	62.50	PASS	42.40	59.58	67.50	PASS	37.65	61.67	67.50	PASS	31.75	49.17	60.00	FAIL	0.00	64.03	74.58	PASS	54.56	69.17	80.31	PASS	44.19	210.55	210.55 / 32	6.579	CAP AGB-I
29 V/14/063	DUKRE GAJANAN DNYANOBA	65.83	68.13	PASS	46.40	59.17	70.63	PASS	38.25	54.79	68.13	PASS	29.99	52.08	64.38	PASS	34.20	63.33	67.50	PASS	52.10	74.58	73.44	PASS	44.49	245.43	245.43 / 38	6.458	PASS
30 V/14/064	DURGE AJAY BHAGWANRAO	77.50	72.50	PASS	52.45	68.33	70.63	PASS	41.55	74.79	68.13	PASS	36.31	65.83	61.88	PASS	38.55	70.28	72.71	PASS	56.66	82.71	73.13	PASS	47.34	272.86	272.86 / 38	7.180	PASS
31 V/14/073	GAYAL SACHIN DATTARAO	50.83	63.13	PASS	38.30	67.92	66.25	PASS	40.35	61.46	62.81	PASS	31.00	51.67	67.50	PASS	34.80	61.39	79.58	PASS	56.28	71.67	75.00	PASS	43.80	244.53	244.53 / 38	6.434	PASS
32 V/14/076	MS. GHARAT DIPALI KESHAORAO	72.50	82.50	PASS	53.40	57.50	71.88	PASS	37.95	67.71	70.00	PASS	34.51	60.00	71.25	PASS	38.70	61.25	80.21	PASS	55.50	67.08	76.25	PASS	42.48	262.54	262.54 / 38	6.908	PASS
33 V/14/079	GONGAL VIVEK JAGO	62.92	73.75	PASS	46.95	65.00	68.13	PASS	39.75	73.33	66.25	PASS	35.05	61.25	68.75	PASS	38.55	65.14	75.63	PASS	55.20	80.42	84.38	PASS	49.20	264.70	264.70 / 38	6.965	PASS
34 V/14/085	GULMIRE SURAJ KUMAR	72.92	78.13	PASS	52.35	64.17	70.00	PASS	39.90	75.63	81.88	PASS	39.16	72.50	74.38	PASS	43.95	73.61	81.46	PASS	61.52	81.04	85.31	PASS	49.68	286.56	286.56 / 38	7.541	PASS
35 V/14/091	HARNE PRITAM RAMESH	46.25	64.38	FAIL	0.00	38.75	62.50	FAIL	0.00	45.00	61.88	FAIL	0.00	40.83	55.00	FAIL	0.00	52.36	71.25	PASS	47.96	59.79	74.38	PASS	39.39	87.35	87.35 / 14		FAIL
36 V/14/093	INGLE OMSATYA PRAKASH	77.92	76.25	PASS	53.75	64.17	66.88	PASS	39.15	82.50	80.63	PASS	40.55	63.75	64.38	PASS	38.40	68.61	83.96	PASS	61.06	81.25	80.00	PASS	48.48	281.39	281.39 / 38	7.404	PASS
37 V/14/100	JAMKAR ABHIJIT DATTARAO	67.08	71.88	PASS	47.70	65.00	70.63	PASS	40.35	56.67	67.50	PASS	30.50	59.17	66.25	PASS	37.20	65.28	78.75	PASS	57.50	71.46	75.00	PASS	43.74	256.99	256.99 / 38	6.762	PASS
38 V/14/105	KADAM SACHIN BALASAHEB	63.33	63.75	PASS	44.65	61.25	70.63	PASS	39.00	63.13	75.63	PASS	33.81	58.75	62.50	PASS	36.15	62.22	76.88	PASS	54.36	71.46	78.44	PASS	44.58	252.55	252.55 / 38	6.646	PASS
39 V/14/106	KAKDAVA VIPUL BALDEV RAM	81.25	70.63	PASS	53.40	76.25	69.38	PASS	44.10	84.58	81.25	PASS	41.45	67.50	75.63	PASS	42.45	72.78	77.29	PASS	60.02	85.21	76.88	PASS	49.14	290.56	290.56 / 38	7.646	PASS
40 V/14/112	MS. KARGIRWAR KSHITIJA GIRISH	70.00	75.63	PASS	50.80	55.42	70.00	PASS	36.75	56.46	78.75	PASS	32.81	54.17	54.38	PASS	32.55	66.53	76.88	PASS	55.20	65.21	81.56	PASS	43.08	251.19	251.19 / 38	6.610	PASS
41 V/14/113	KATKHEDE PARIKSHIT DIWAKAR	85.42	83.75	PASS	59.50	77.50	80.00	PASS	47.10	73.13	89.38	PASS	39.84	75.00	91.25	PASS	48.90	79.86	87.92	PASS	66.82	88.96	93.44	PASS	54.45	316.61	316.61 / 38	8.331	PASS
42 V/14/115	KHADSE VIJAY SUNIL	35.42	51.25	FAIL	0.00	39.58	67.50	FAIL	0.00	37.71	60.63	FAIL	0.00	38.33	50.00	FAIL	0.00	46.39	73.13	FAIL	0.00	56.25	79.38	PASS	39.33	39.33	39.33 / 6		FAIL
43 V/14/116	KHAN ASAD ABDUL KALAM KHAN *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL
44 V/14/120	KHARDENAVIS SUDHANWA UDAY	81.25	79.38	PASS	56.00	76.25	78.13	PASS	46.20	79.17	70.00	PASS	38.25	71.25	65.00	PASS	41.25	69.17	86.67	PASS	60.58	90.00	85.94	PASS	53.04	295.32	295.32 / 38	7.771	PASS
45 V/14/123	KODANGE OMKAR TUKARAM	71.67	76.25	PASS	51.85	72.50	77.50	PASS	44.70	67.29	78.75	PASS	35.54	57.92	58.13	PASS	34.80	77.22	88.96	PASS	64.96	77.08	82.19	PASS	47.49	279.34	279.34 / 38	7.351	PASS
46 V/14/128	MS. KOVE NATASHA SUNIL	85.42	80.63	PASS	58.25	69.58	75.00	PASS	43.05	70.42	78.75	PASS	37.45	68.33	81.88	PASS	44.25	69.44	87.29	PASS	60.16	81.04	87.50	PASS	50.19	293.35	293.35 / 38	7.719	PASS
47 V/14/137	LATAYE MAYUR ASHOK	38.75	56.88	FAIL	0.00	40.42	60.00	FAIL	0.00	34.17	51.88	FAIL	0.00	39.58	32.50	FAIL	0.00	44.86	76.04	FAIL	0.00	59.17	65.31	PASS	36.99	36.99	36.99 / 6		FAIL
48 V/14/149	MS. MANIYAR RACHITA MANMOHAN	83.33	83.13	PASS	58.95	79.17	73.13	PASS	46.05	82.08	89.38	PASS	41.85	78.33	83.13	PASS	48.15	82.08	91.67	PASS	68.26	90.83	96.25	PASS	55.83	319.09	319.09 / 38	8.397	PASS
49 V/14/154	MEHAR ROSHAN MADHAVRAO	77.92	75.63	PASS	53.80	69.58	79.38	PASS	44.10	72.50	90.00	PASS	39.45	61.67	55.00	PASS	35.40	63.75	86.04	PASS	58.30	83.96	88.44	PASS	51.45	282.50	282.50 / 38	7.434	PASS
50 V/14/156	MESHRAM SUJIT HARIDAS	68.75	74.38	PASS	49.30	58.33	73.13	PASS	38.55	62.29	80.00	PASS	33.81	58.75	55.63	PASS	34.50	67.50	82.29	PASS	59.32	70.00	79.38	PASS	44.25	259.73	259.73 / 38	6.835	PASS

CAP = CONDITIONALLY ALLOWED PROMOTION

P/F = PASS / FAIL

\* - ABSENT IN ANNUAL/PRACTICAL EXAM

NR - NOT REGISTERED

S/US - SATISFACTORY/UNSATISFACTORY

E - II

CP (Credit Point) = Sum of (Grade Point × Credit Hours) of the course(s).

(GPA = Total Credit Points/Total Credit Hours)

(A = EXCELLENT, B = GOOD, C = AVERAGE)For Non-Credit Courses offered during this semester, the grades are indicated. The non-credit courses which are already offered and cleared are mentioned as '--' in the grade column

Note: The students and the Counselors are expected to go through the results declared by the University. The result is subject to change, in case of error/mistake etc. at any stage.

[vide Academic Regulations for B.V.Sc. & A.H. Degree Course]

1) A student shall be promoted to the next higher Professional class only if he/she has passed in all the papers of his/her class #.

2) To pass a Paper, a student must acquire 50% or more marks each in Theory & Practical, separately (Internal & External combined).

3) Failed students (in more than two Papers) shall register again for the entire Professional Class, they failed. Such student shall have to fulfill all the requirements of that class afresh.

4) A student failed in maximum two Papers only may be allowed once to appear in Compartment Examination for those Paper(s) in which he/she has failed.
5) A Student may also be allowed provisional promotion to next higher class till the decalration of the result Compartment Examination. However, this promotion shall be subject to clearance in the Compartment Examination(s).
6) In case of failure in any of the Compartment Paper(s), the student will be reverted back to the previous Professional Year and will be required to repeat all the requirements of that failed Professional Year.

7) A student failing in the Annual Examination for three consecutive years in a Professional Year of B.V.Sc. & A.H. degree programme, shall be finally dropped automatically from the University Roll on account of poor academic performance.

8) The desired students may apply for Scrutiny/Retotaling of marks of the Answer book(s) in prescribed format within three days after the declaration of the result by paying prescribed fees

# The students completing all the credit and non-credit courses successfully are only eligible for undergoing ITP (Clause 9-5:(c)) of the Academic Regulations- 2009



## RESULT OF B.V.Sc. & A.H. DEGREE COURSE ANNUAL EXAMINATION, July 2015

**COLLEGE** : NAGPUR VETERINARY COLLEGE, NAGPUR

**PROFESSIONAL YEAR: ACADEMIC YEAR** 2014-2015

Sr. No.	Enrol. No.	Name of the student	Ve	Veterinary Anatomy - I 3 + 4 = 7  Theo. Pract. P/F CP		Veterinary Physiology - I 4 + 2 = 6  Theo. Pract. P/F CP 1				Veter		ochemist 2 = 5	ry - I	Anima		cs & Breed 2 = 6	ding - I	Management - 1 5 + 3 = 8				Animal Nutrition - I 4 + 2 = 6				Total Cr.Gr.Pt. (CGP)	Grade Point Average (GPA)		Final Result (P/F)	CAP Subject	
			Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	(cur)	(GPA)		( , , ,	
51	V/14/157	MESHRAM VIRAJ SUDHAKAR	56.67	66.25	PASS	42.10	58.33	71.25	PASS	38.10	57.71	66.88	PASS	30.64	56.25	67.50	PASS	36.45	62.22	80.00	PASS	54.60	67.29	83.75	PASS	44.34	246.23	246.23 / 38	6.479	PASS	
52	V/14/158	MISHRA AKASH AJAY MISHRA *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL	
53	V/14/159	MOHD IRSHAD MOHD NASIR	47.08	65.63	FAIL	0.00	49.17	65.00	FAIL	0.00	57.08	58.75	PASS	28.70	45.42	61.25	FAIL	0.00	52.50	68.13	PASS	47.92	55.21	75.94	PASS	38.10	114.72	114.72 / 19		FAIL	
54	V/14/163	MUSALE RAVI DAGDU	77.50	87.50	PASS	56.35	55.42	70.00	PASS	36.75	66.67	80.31	PASS	36.49	63.75	69.38	PASS	39.60	77.36	88.54	PASS	66.18	88.54	94.38	PASS	54.54	289.91	289.91 / 38	7.629	PASS	
55	V/14/166	MS. NAGRE SHUBHANGI SUBHASH	62.08	69.38	PASS	45.30	51.25	68.75	PASS	34.95	41.46	73.13	FAIL	0.00	60.00	51.25	PASS	33.90	57.64	81.04	PASS	53.28	55.63	79.06	PASS	39.03	206.46	206.46 / 33	6.256	САР	VPB(B)-I
56	V/14/169	NANDANWAR CHETAN BHAURAO	81.67	86.88	PASS	58.35	67.50	75.63	PASS	42.45	79.58	81.88	PASS	40.25	72.08	78.13	PASS	44.70	71.94	87.29	PASS	62.32	78.33	85.31	PASS	48.69	296.76	296.76 / 38	7.809	PASS	
57	V/14/173	MS. NEELAGIRI SHREYA RAO RAMESHWAR RAO	47.50	66.88	FAIL	0.00	58.33	67.50	PASS	37.20	64.58	77.50	PASS	34.85	50.42	61.25	PASS	32.85	66.25	86.88	PASS	59.58	74.79	72.50	PASS	44.34	208.82	208.82 / 31	6.736	САР	VAN-I
58	V/14/176	NIRWAL AKSHAY RAMESHRAO	68.75	74.38	PASS	48.95	64.58	75.00	PASS	41.25	76.67	79.38	PASS	38.40	62.92	65.63	PASS	38.40	63.19	83.54	PASS	57.80	76.46	75.94	PASS	45.78	270.58	270.58 / 38	7.120	PASS	
59	V/14/177	PADMWAR RUSHIKESH ASHOK	77.08	75.00	PASS	53.05	72.50	70.63	PASS	43.05	87.50	83.75	PASS	42.95	66.25	73.75	PASS	41.55	71.39	86.46	PASS	61.76	81.88	87.50	PASS	50.49	292.85	292.85 / 38	7.706	PASS	
60	V/14/182	MS. PANGHAL RITU ANUP SINGH	88.75	95.63	PASS	64.00	79.17	74.38	PASS	46.35	97.08	91.88	PASS	47.50	90.42	90.00	PASS	54.15	86.39	93.75	PASS	70.80	89.38	98.13	PASS	55.74	338.54	338.54 / 38	8.908	PASS	
61	V/14/183	MS. PARKHE PRAPTI RAJESHWAR	81.67	81.88	PASS	56.95	71.25	78.13	PASS	44.40	86.46	76.25	PASS	41.29	72.50	78.75	PASS	45.00	69.72	87.71	PASS	60.86	86.04	91.88	PASS	53.04	301.54	301.54 / 38	7.935	PASS	
62	V/14/184	PATANGE SAGAR SURESHRAO	43.33	59.38	FAIL	0.00	30.00	56.25	FAIL	0.00	48.96	71.25	FAIL	0.00	36.25	50.63	FAIL	0.00	40.14	64.58	FAIL	0.00	51.46	72.19	PASS	35.88	35.88	35.88 / 6		FAIL	
63	V/14/189	PATIL SAGAR NANA	61.67	74.38	PASS	46.25	57.92	75.00	PASS	38.85	58.13	67.50	PASS	31.44	60.00	56.25	PASS	35.10	70.28	82.50	PASS	59.48	73.13	80.63	PASS	45.69	256.81	256.81 / 38	6.758	PASS	
64	V/14/192	PAWALE SHYAMSUNDAR SAKHARAM	67.50	70.63	PASS	47.90	63.75	74.38	PASS	40.80	71.88	86.25	PASS	38.69	67.50	78.13	PASS	43.05	77.08	86.04	PASS	64.20	80.63	82.50	PASS	48.84	283.48	283.48 / 38	7.459	PASS	
65	V/14/206	MS. RATHOD NEHA DURGADAS	63.75	80.00	PASS	49.00	59.17	73.13	PASS	38.85	68.75	79.38	PASS	36.25	67.50	53.13	PASS	37.05	69.44	82.08	PASS	59.60	79.38	91.25	PASS	50.49	271.24	271.24 / 38	7.137	PASS	
66	V/14/217	MS. SANGALE RUCHIKA RAJENDRA	65.42	76.88	PASS	48.65	62.08	81.25	PASS	41.85	75.42	78.75	PASS	37.85	58.33	56.88	PASS	34.65	74.44	81.25	PASS	62.58	84.58	85.00	PASS	50.85	276.43	276.43 / 38	7.274	PASS	
67	V/14/220	SARDAR OMKAR MILIND	72.92	75.00	PASS	50.60	66.25	69.38	PASS	40.50	76.46	78.75	PASS	38.24	64.58	73.13	PASS	40.80	70.83	80.42	PASS	60.98	81.67	85.00	PASS	49.80	280.92	280.92 / 38	7.392	PASS	
68	V/14/222	MS. SAWLE PRERNA MOHAN	59.58	71.25	PASS	44.75	59.58	75.63	PASS	39.60	71.25	80.00	PASS	37.45	60.42	56.88	PASS	35.40	62.08	75.21	PASS	54.18	71.46	83.75	PASS	45.84	257.22	257.22 / 38	6.768	PASS	
69	V/14/226	SHARMA ABHAY KUMAR VISHVANATH SHARMA *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL	
70	V/14/227	SHARMA ABHISHEK RAJENDRA PRASAD SHARMA *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL	
71	V/14/228	MS. SHARMA ANSHU RANDHIR	71.25	81.88	PASS	52.35	62.50	71.88	PASS	39.75	64.58	86.25	PASS	36.55	60.83	73.75	PASS	39.60	72.92	83.96	PASS	61.98	81.25	94.38	PASS	51.90	282.13	282.13 / 38	7.424	PASS	
72	V/14/229	SHELKE AJAY ANANDRAO	70.83	73.75	PASS	49.15	62.92	73.75	PASS	40.35	68.33	79.38	PASS	36.15	66.67	66.25	PASS	39.90	65.97	79.17	PASS	57.96	77.71	87.19	PASS	48.90	272.41	272.41 / 38	7.168	PASS	
73	V/14/233	SHINDE AKSHAY MURLIDHAR	67.50	75.63	PASS	49.15	58.75	72.50	PASS	38.55	63.54	60.63	PASS	31.39	55.42	51.25	PASS	32.25	72.50	80.00	PASS	60.60	75.21	81.25	PASS	46.59	258.53	258.53 / 38	6.803	PASS	
74	V/14/234	SHINDE PAVAN PANJABRAO	77.08	75.00	PASS	53.05	70.00	70.00	PASS	42.00	68.96	79.38	PASS	37.09	57.50	65.00	PASS	36.30	75.00	84.79	PASS	63.12	84.79	82.19	PASS	50.28	281.84	281.84 / 38	7.416	PASS	
75	V/14/240	SINGH AVINASH AVADHESH YADAV *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL	

CAP = CONDITIONALLY ALLOWED PROMOTION

P/F = PASS / FAIL

\* - ABSENT IN ANNUAL/PRACTICAL EXAM

NR - NOT REGISTERED

S/US - SATISFACTORY/UNSATISFACTORY

E - II

 $CP (Credit Point) = Sum of (Grade Point \times Credit Hours) of the course(s).$ 

(GPA = Total Credit Points/Total Credit Hours)

For Non-Credit Courses offered during this semester, the grades are indicated. The non-credit courses which are already offered and cleared are mentioned as '--' in the grade column (A = EXCELLENT, B = GOOD, C = AVERAGE)Note: The students and the Counselors are expected to go through the results declared by the University. The result is subject to change, in case of error/mistake etc. at any stage.

[vide Academic Regulations for B.V.Sc. & A.H. Degree Course]

1) A student shall be promoted to the next higher Professional class only if he/she has passed in all the papers of his/her class #.

2) To pass a Paper, a student must acquire 50% or more marks each in Theory & Practical, separately (Internal & External combined).

3) Failed students (in more than two Papers) shall register again for the entire Professional Class, they failed. Such student shall have to fulfill all the requirements of that class afresh.

4) A student failed in maximum two Papers only may be allowed once to appear in Compartment Examination for those Paper(s) in which he/she has failed.

5) A Student may also be allowed provisional promotion to next higher class till the decalration of the result Compartment Examination. However, this promotion shall be subject to clearance in the Compartment Examination(s).
6) In case of failure in any of the Compartment Paper(s), the student will be reverted back to the previous Professional Year and will be required to repeat all the requirements of that failed Professional Year.
7) A student failing in the Annual Examination for three consecutive years in a Professional Year of B.V.Sc. & A.H. degree programme, shall be finally dropped automatically from the University Roll on account of poor academic performance.

8) The desired students may apply for Scrutiny/Retotaling of marks of the Answer book(s) in prescribed format within three days after the declaration of the result by paying prescribed fees. # The students completing all the credit and non-credit courses successfully are only eligible for undergoing ITP (Clause 9-5:(c)) of the Academic Regulations- 2009

**Checked By** Signature of Registrar



## RESULT OF B.V.Sc. & A.H. DEGREE COURSE ANNUAL EXAMINATION, July 2015

COLLEGE : NAGPUR VETERINARY COLLEGE, NAGPUR

DROFFSSTONAL VEAR .

E - II

ACADEMIC YEAR		-2015					PI	ROFESSIONAL YEAR:
Sr. Enrol. No.	Name of the student	Veterinary Anatomy - I 3 + 4 = 7	Veterinary Physiology - I 4 + 2 = 6	Veterinary Biochemistry - I 3 + 2 = 5	Animal Genetics & Breeding - I 4 + 2 = 6	Livestock Production Management - I 5 + 3 = 8	Animal Nutrition - I 4 + 2 = 6	Total Grade Final Point Result (CGP) (CPA) (P/F)
		Theo. Pract. P/F C	P Theo. Pract. P/F CP	Theo. Pract. P/F CP	Theo. Pract. P/F CP	Theo. Pract. P/F CP	Theo. Pract. P/F CP	(GPA)

Sr. No.	Enrol. No.	Name of the student	Ve		Anatomy 4 = 7	/ - I	Vete		hysiology 2 = 6	y - I	Veter		iochemist 2 = 5	try - I	Anima		s & Bree 2 = 6	ding - I		Manage	ement - I 3 = 8	OII	,		utrition - 2 = 6		Total Cr.Gr.Pt. (CGP)	Grade Point Average	e	Final Result (P/F)	CAP Subject
			Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	Theo.	Pract.	P/F	СР	(CGF)	(GPA)		( , , ,	
76	V/14/241	SINGH BHANU PRATAP SHRIKANT SACHAN *	25.42	46.88	FAIL	0.00	36.25	26.88	FAIL*	0.00	42.71	30.00	FAIL	0.00	31.67	50.00	FAIL	0.00	47.50	59.79	FAIL	0.00	51.46	70.00	PASS	35.34	35.34	35.34 / 6		FAIL	
77	V/14/254	TAPASE PRATHMESH PRASHANT	68.75	74.38	PASS	49.90	70.00	76.88	PASS	43.65	77.92	74.38	PASS	37.95	59.58	65.00	PASS	37.05	67.50	80.42	PASS	58.58	69.79	77.81	PASS	43.83	270.96	270.96 / 38	7.130	PASS	
78	V/14/255	THAWKAR PIYUSH DHANRAJ	66.67	70.00	PASS	47.35	61.67	70.00	PASS	39.00	59.17	76.88	PASS	32.80	67.08	61.25	PASS	38.85	68.06	82.71	PASS	58.62	73.54	85.00	PASS	46.89	263.51	263.51 / 38	6.934	PASS	
79	V/14/258	MS. TINGASE SHIWANI SUNIL	65.83	68.75	PASS	47.10	56.25	76.25	PASS	38.55	63.33	64.38	PASS	31.75	48.75	68.13	FAIL	0.00	60.28	78.33	PASS	53.80	66.04	84.06	PASS	43.95	215.15	215.15 / 32	6.723	CAP	AGB-I
80	V/14/263	VARULE HARSHAL SOMNATH	60.42	69.38	PASS	43.60	55.83	70.63	PASS	37.05	67.50	68.75	PASS	33.65	48.33	50.63	FAIL	0.00	64.72	75.83	PASS	55.38	63.75	77.81	PASS	41.64	211.32	211.32 / 32	6.603	CAP	AGB-I
81	V/14/267	VIJAYRAJ SAMEERAJ K VIJAYRAJ	53.75	74.38	PASS	43.65	56.67	74.38	PASS	38.25	57.71	75.63	PASS	32.66	51.25	61.88	PASS	33.30	61.94	78.33	PASS	55.50	70.63	84.38	PASS	45.69	249.05	249.05 / 38	6.553	PASS	
82	V/14/272	MS. WANKHADE ABOLI GAJANAN SHRIRAMJI WANKHADE	70.83	80.63	PASS	51.90	65.42	76.25	PASS	41.85	65.21	81.25	PASS	36.41	55.83	73.75	PASS	37.80	66.81	77.50	PASS	57.12	83.96	94.38	PASS	52.89	277.97	277.97 / 38	7.314	PASS	
83	V/14/274	WATTAMWAR SHRINIVAS JANARDHAN	73.33	84.38	PASS	54.25	79.58	85.63	PASS	49.20	91.25	89.38	PASS	45.20	68.75	75.00	PASS	42.75	76.53	85.63	PASS	64.70	82.71	98.13	PASS	53.34	309.44	309.44 / 38	8.143	PASS	
84	V/14/275	YADAV ANUP KUMAR SANTOSH KUMAR YADAV *	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00	FAIL*	0.00	0.00	0.00 / 0		FAIL	
85	V/14/280	MS. ZADE TANUTAI SHYAMRAO	60.83	72.50	PASS	45.40	53.33	68.13	PASS	35.55	53.54	75.63	PASS	31.16	57.08	53.75	PASS	33.45	70.56	80.63	PASS	58.96	70.21	86.25	PASS	45.99	250.51	250.51 / 38	6.592	PASS	

CAP = CONDITIONALLY ALLOWED PROMOTION

P/F = PASS / FAIL

\* - ABSENT IN ANNUAL/PRACTICAL EXAM

NR - NOT REGISTERED

S/US - SATISFACTORY/UNSATISFACTORY

CP (Credit Point) = Sum of (Grade Point  $\times$  Credit Hours) of the course(s).

(GPA = Total Credit Points/Total Credit Hours)

(A = EXCELLENT, B = GOOD, C = AVERAGE)

For Non-Credit Courses offered during this semester, the grades are indicated. The non-credit courses which are already offered and cleared are mentioned as '--' in the grade column that the University. The result is subject to change, in case of error/mistake etc. at any stage. (A = EXCELLENT, B = GOOD, C = AVERAGE) For Non-Credit Courses offered during this semester, the grades are indicated. The non-credit courses which are already offered and cleare.

Note: The students and the Counselors are expected to go through the results declared by the University. The result is subject to change, in case of error/mistake etc. at any stage.

[vide Academic Regulations for B.V.Sc. & A.H. Degree Course]

1) A student shall be promoted to the next higher Professional class only if he/she has passed in all the papers of his/her class #.

2) To pass a Paper, a student must acquire 50% or more marks each in Theory & Practical, separately (Internal & External combined).

3) Failed students (in more than two Papers) shall register again for the entire Professional Class, they failed. Such student shall have to fulfill all the requirements of that class afresh.

4) A student failed in maximum two Papers only may be allowed once to appear in Compartment Examination for those Paper(s) in which he/she has failed.

5) A Student may also be allowed provisional promotion to next higher class till the decalration of the result Compartment Examination. However, this promotion shall be subject to clearance in the Compartment Examination(s).

6) In case of failure in any of the Compartment Paper(s), the student will be reverted back to the previous Professional Year and will be required to repeat all the requirements of that failed Professional Year.

7) A student failing in the Annual Examination for three consecutive years in a Professional Year of B.V.Sc. & A.H. degree programme, shall be finally dropped automatically from the University Roll on account of poor academic performance.

8) The desired students may apply for Scrutiny/Retotaling of marks of the Answer book(s) in prescribed format within three days after the declaration of the result by paying prescribed fees. # The students completing all the credit and non-credit courses successfully are only eligible for undergoing ITP (Clause 9-5:(c)) of the Academic Regulations- 2009

**Checked By** Signature of Registrar